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Part III — Vocational Subjects

SligLiLienL Westewamy Glummlufluieo

BASIC ELECTRONICS ENGINEERING
(WP wHmID Y mdle euyl / Tamil & English Version )

&med 2jema] : 3.00 wewil CHIL | [ Qrgs wHubuamser : 90
Time Allowed : 3.00 Hours | [ Maximum Marks : 90

ilejenrss : (1)

Instructions :

&My = (i)
(ii)

Note : (1)

(i)

Smansg ellaTasepd FHlwurs udeundl o edrensm eranLigenet FAUMTSgIs
Qs maTemeyd. H&FsILIFLIEQD GepullmLiber Sienms seramewtlliuimerlLb
o | amquinsg Cgfleissal.

(2) Beod g ;LY @bulmar LLHCL T USDHELD
S5CamghHeusH@n LwarU(hss Coalar(Hib. LLBIGET auamielsnd
Quendled Liwem(hgSe,Lb.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

U@ - I/ PART - I
OIS G assEnsEEGD ellenwaflsseyb. 15x1=15

Qarhssiul(herer wrHM elenL Gafle Wsa|D ghLamLw el mws

Cambos(hdss GOULHLer eleLulemarnyb Caigg er(psey.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1.

Smerr senrsSlL_ LD @GS

(1) P=V/I (<) P =IR (&) P=V/R
The power can be calculated by :
(a) P=V/I (b)) P=IR (c) P=V/R

leTeu(HeuaTeLDMIeT 6Tg <Hmed WwrhHml ?
(1) WerwmHm (=) Wergen (@) @deurndl
Which of the following is a transducer ?

(a) Transformer (b) Resistor (c) Microphone

fdlsareflen jam erer :

(=1) 29 (=) 6 (&) 32
The atomic number of Silicon is .
(@) 29 (b) 6 (c) 32

() P=VI

() BeCaéd

(d) Condenser

(rF) 14

d) 14

Epaar_amaisailer erbsd saflbbd eperm @evardnear crosLl rrersamer QLDTSE ?

(FF) @) ewriquild

(d) Indium

(=) Qegiromefluid (<) Cumyrer (@) Gsedlwid

Which of the following element does not have three valence electrons ?
(a) Germanium (b) Boron (c) Gallium

Wean(pss CumsHuder LeEn Wergen. o @Lb.

(1) 3 kO pgev 15 kO (<) 5 kO wpgev 20 kQ

(@) 4 kQ wse 8 kO (FF) 4 kQ wpgev 10 kQ

Load Impedance of Voltage Amplifier is .

(a) 3 kQto 15 kO (b) S kQto 20 kO

(c) 4kQto 8k (d) 4kQto 10 kO

6@ SCR -wllerm sL_(HLum(h (pene :

(1) @Carm(h WlereuLphid (=) Ca5Gsm(H
(@) Gai () %Gam®
The control terminal of an SCR is .

(a) Anode supply (b) Cathode
(c) Gate (d) Anode
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@R(H Semrwereinet (Quasi) wrwrs Hlepeols CummeTer WergEmm GTeur
S®P&HILMHE DS

(1) eparm LIOTS Hlenevd SHm)

(<=4) @mblened Laanld jSlTay HHm

(&) aperm Hlevevd sy

() emblene Lismend FTe] &Hm)

Circuit which consists of a quasi-stable state is called

(a) Tristable circuit

(b) Bi-stable multivibrator circuit

(c) Tristate circuit

(d) Monostable multivibrator circuit

(T NFENT DN GTEITLIG)

(S31) Q&s UMms SN LHMILD GLILIENLD DN CUMS
(<) @uiyer iema

(B) Q&5 UMS DM DG RLILINLD DM CUMS
(FF) Q0&E cUMS Sen6D

A sine wave is a :

(a) Both digital and analog signal

(b) Analog signal

(c) Either digital or analog

(d) Digital signal

U@GWenn UGLUUTaT 2 (heursSlwel wmm ?

(<=1) Beb Gumt (<) Wenaren LImavged
(@) arreven LTGLS) () Byl e

Who developed Analytical Engine ?

(a) Neil Bohr (b) Blaise Pascal

(c) Charles Babbage (d) Newton
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10.

11.

12.

13.

14.

15.

QuTmBESTEDSS CoTH0lSHESELD.

(=) Kilowatt (<) Bit (@) Megabyte
Choose the odd one :

(a) Kilowatt (b) Bit (c) Megabyte

Yeeu(meueaTeLDMIGT 6TE QWSS (LPEDENLd QOOTSS ?
(<) Unix (<) Linux (@) Oracle
Which of the following is not an operating system ?

(a) Unix (b) Linux (c) Oracle

sanflaiufer LweTLhSSLILOD Wersws Gsr@Lliy g ?

(1) <persader (<) Hésa-Cal Blwib
(@) eflsHwid (rfr) CMOS

Which battery is used in the computer ?

(a) Alkaline (b) Nickel - Cadmium
(c) Lithium (d) CMOS

CaL (penet QLT FTHEILD
(<) SCR (<) gOTWIS (@) eoLwrs
The device that does not have gate terminal is

(a) SCR (b) TRIAC (c) DIAC

@@ sa1 2A(H&S Wenbrpmluder somisseten eSlSlsb

(o) 2:1 (=4)1:2 (@) 2:2
The ratio of winding in isolating transformer is :
(a) 2:1 b)) 1:2 (c) 2:2

0010 -eflesr 1 -eor Bl eregr :

(=1) 0100 (<) 0010 (@) 1111
Write the 1’s complementary of 0010 :
(a) 0100 (b) 0010 (c) 1111

(d)

Byte

Byte

Windows

Windows

FET

FET

1101

1101
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U@ - II / PART - II

GSMILIY : eTemeuCuienid LISF feamasEné@ WL Hb elawealdseyb. Seupde eferm

oTeT 28 -8 SL_LMuwns clleanl_weflgse CouamT(hi. 10x3=30
Note : Answer any 10 questions briefly. Question No. 28 is compulsory.
16. BN GTGITMTE) GT6ITGT ?
What is meant by a resistor ?
17. Wengnenriquier ‘5@&S erewr eretmmed erement ?
What is ‘Q factor’ of Inductor ?
18. MM6L LIL DL GTETMTE) G660 ?
What is meant by Energy band ?
19. SISO — cuTWMESHE,LD.
Define : Rectifier.
20. & glewr( LED panmulled eremr 3 ereueumm SramidssliL(d eTarlamgs dnm)is.
How will you display number 3 in seven segment display ?
21. (W55 Wlem edleneTe| eTeMMTE) GTeoTenm ?
What is meant by Piezo electric effect ?
22. cTavantleney erergar (Octal Number) 6TasImTe) GTemeT 2
What is meant by Octal Number System ?
23. saflafuder saopann CLWLTSMET 6T(LpS)s.
Write down the names of the generation of computer.
24. @heOn LW @Qu&s (WpemeneWl! LHMl &HESTs ameLd.
Write about single user operating system.
25. auerum : ew&ECrmETe LI allarGLmev.

Define : Microsoft Windows.
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26.

27.

28.

Qamemerereilen jiqliLienLuled sewtlafl euameuienLIbeT UMEHENET 6T(LHS)S.

Write the types of computer networks based on their size.

QaneRTISS 60T BETENLOSET WITenau ?

What are the advantages of Internet ?

Wemeflwe o mili srgeamgafler CLwismer 6r(pg)s.

Write the names of Electrical Devices.

U@ - III / PART - III

@MY : eTemeuCuiend WBEH NamssEns@ WL Kb e wellssayn. eferm erehr

Note :

29.

30.

31.

32.

33.

34.

35.

35 -5 sL_Lmuwns allamLweallssa Couam@hmn. Caameuwinear @L migefed LL LD
QU TLIGLD. 5x5=25
Answer any five questions. Q. No. 35 is compulsory. Draw diagrams wherever

necessary.
STTLeT WlersenLgeT LHMl UL SFHIL 6T 66TdHEs.

Draw and explain about “Carbon Resistor”.

g TrerSlenL_Mer LWaTUT(HSmeT eT(Lpgis.

Write the applications of transistors.

ST AMOSH(HSSHeanw lengFHmiL e 6lems@s.

Explain Half-wave Rectifier with circuit diagram.

LED wpmib LCD - eub@hs.
Compare LED and LCD.

Simaowrsslude o drer Wp&Hlw LGHasamer LULSFHIL 6T 66T Es.

Draw and explain the essential parts of the Oscillator.

uflrdm s Guur_(® Qpdlpeppsatier (TCP) Hemenos6T Wmanal ?

What are the advantages of TCP (Transmission Control Protocol) ?

sawflafluflesr ALU upil eleuf&sab.

Explain ALU in computer.
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L@&3 - IV / PART - IV
GSOILL : Semensg alamssErs@h el walssaln. Comaiwmear @)L nhigefld LLLD
QUG TWIGYLD. 2x10=20

Note : Answer all the questions. Draw diagrams wherever necessary.

36. (=) SCR Qaweu(hbd elgsemss sy (biasing) euenrULSFIL 6T edleufl&sey.
S|6V6VG
(=) erewr (penmser (Number System) LpMl eleuM&seLb.
(a) Write in detail the working of SCR with biasing diagram.
OR

(b) Explain in detail about the number system.

37. (=) gCsanid @ranr(h seateuansd GamnsL 55 srgamisamers LUHM elleum&se,b.
S|6V6VG
(=) sentlQumdluier griLamsler gamseT LHMLD Aeupdler CFwdUT(HEmeT
efleuM&EHayLd.
(a) Explain any two special semiconductor devices.
OR

(b) Explain in detail about the components and functions of the Mother Board in
a computer.
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